BRR =T ER 8

I F (T RO ik — 2 B [ RE Y 5 8 7%
1#ﬁ§“ll:j£*_|/=m%Fﬂﬁ%E‘ %—-:_Et ’
I Fl A& R JE Y RC A RU iR R RE VR &)

) 3ENERRBNNEE &




FEMEMERRHBHERKENHEENE

. ©0Ele
EZK%EW’“ - NC-5-2-1 - 2(|§_| RC-5-1-1- 2) BY NC SA
OHf ¥ i — 5 HHN

U)QEEW’U$§$€3wiw1#§755£’%%%1#§3€%
;}‘Uiﬂ? ’,‘!:‘lr’/;’,");u?
ﬁ TS BEN o EAELER LAY LR GRETT K
£ 5 1360+12=30
%ijj £ & 130+55=85 g 185~
AL EENTUEER S - BES o
£ 3 1 360+12=30
£y 304—55 85
- &3¢ 1 360+12+55=85 ¥ 185~
AT § 8 360+12+55=85F it fr ¥ kT ko
¥ L% 360+12+55=( Vs H R e ok o
360+12+55=( )
360+12+55
=30+55
=85 185~

(2 %675 1 1564 K- 5 &4 203 TAB2 =F4 K H T AT
AR 9

a TURSBEN AR LY LR REIET Ko
£ 5 1 20X15=300
£ & 1300:25=12 F 1125
=N ~4§L,Erm9 ST LEEB A - BE G
£ 8 1 20X15=300
L& :300:25=12
- B85 20X15+25=12 E 12 %
AT oLt BV 20X15:25=12F fEfrE KT ok o
ot 20X 15+25=¢( Vs JE P T 1 o

20X 15+25=( )

20X15+25

=300+25

=12 F 1125



FEMEMERRAEHTERERS

BIHBEEMRA

EABBRE

: NC-5-2-1 ~ 2([& RC-5-1-1 - 2)

Oz % F W AL — 2 I0E J 38 L 4e ik 198 4L
(1) ¢ 8% 7 mommm+\—'1m0mmma#—@2mommﬂ%,
%Ta‘”réif_é‘390’°’ S IREIEE - b W T R
BHEN > pAET F* LB P ARG T Ok o
LEF=HRATRABHZSRD !f'_—_i’
AEFFE T RA S A9 t@
£ 5 1700+ 1200-+2000=3900
£ & :3900—390=3510
5] o E A - B E N (7004 120042000)—390=3510

5
]

/‘zé

: 3510 ~

Fgpee e # (700+1200+2000)—390=(

)i AL P e

-

(2) #2273

TER L R

x % ,’;aj;tiuggg =

1500—475—3504+150=(
1500—475—350+150
=1025—350+150
=675+150

=825

(3) 4454 425 § 7 385 R R

By s
E

=

Fra
L
A

jrl
i']
e

'L‘
-

%%«
?? ©

ol
nE

ok
o do

ol‘»
Tp

|

1000 —385—235—255=(
1000 —385—235—255
=615—235—255
=380—1255

=125

1500 = » B 475 ~hE 5 ¥ 350 = ch

ajqé—/}_o

-t

)

Ik BIEX B 150 & o

¥ 5 1500—475—350+150=1025—350+150

1025—350+150=675+150

7 675+150=2825

#1120 1500—475—350+150=2825

)

T #“%\Ej PUT:I‘ #‘Ta*:h‘%

w7
N

=
RIS
) LS\

£ 1825 ~
~ 235 R & e 255 ~cnis @ o 1 1000 0

1000—(385+235+255)=( )
1000 — (385+235+255)

— 1000 — (620+255)

—1000—875

—125 % 1125 ~




TEMBEMEESYBHNBERERENABEMA
BEARBEAS : NC-5-2-1 - 2([§ RC-5-1-1 ~ 2)

1
J

i‘?gi\#“%gga—r ji ,-FT_ i

A ER -
(DEZF 7 4%~ 2 BB grn |(Qepilgs § o
§ 78 A 1342 ~99 A~ 126 & o

350 ~ g ~ 405 & e
K% 230 AehFEE - i gp 0 £ T
71205 % o W B AEEEET 50 R Q

759

B) ¢ AfE B 2] (895 |4 FHEE BEF 700 ~ 0 °H
P 4355 224 14554 392 &
7—J'ﬁ %");u?

340 ~ - 27 1000 =~ > =4 280
L o &i‘al]"f,;-jjﬁ#gi:‘;ﬂl;br?




FEMEMERRHBMERKENHAEEME

@ HEASZNAS : NC-5-2-1 ~ 2(@ RC-5-1-1 -~ 2)

=0

O HFFH—FFF 4 frR FEF ORI

(1) #%4 200~ %7 2 %% > — Bl 49~ § § 2 %6 65~ 37 #
EREF 5 SR
Yo BER R AEAALE G APRERET X

L8 1200—49%X2=102
5 1024+65=167
A BENTES- BE D (200—49X2)+65=167 #1167 &

{fh ¥ 2 (200—49X2)+65=( Vi TP T & o ]

(2) — #¥LHEW 166 ~ > — FLE* 84 &~ o 4ELEF 1200 ~ > § 7 3 HELHS 0 3FL %
Ats o FTERD

- BEHEN ALY LA @,,.:r‘ szJ\/chTj\

AE R 3 fr3igE it LR F AT
EEFT 50 R

£ 5 1 (166+84)X3=750
75 11200-750=450
B E N K- B E N 1200— (166+84)X3=450 % 1450 A

[5“ P 1200—(166+84)X3=( ) 4L P T % o ]

B) —£3F:7 123F > ERFE20 £ > BFHFAY AL 8 o FIT iR W
SRAER EFHF 1T 2 gm; ,—a%ffgg,u;b?
4 % a—\#g\g*—rj\ _’g_;:”

17X(12X20—8)=( )
17X (12X20—8)

F1 % 17X(12X20—8)=17X(240—8) | ,

=17X(240—38) 17X (240—8)=17x232
=17x232 17 X232=3944
=3944

w010 17X (12X20—8)=3944

§ 13944 &



AU B ERANEHERRENRSENA
EABRAS : NC-5-2-1 - 2(F RC-5-1-1 - 2)

P § T 4 BPRIEE {3 R L P ET 490 T - B f 53
m,—-p_,.i}—l‘j?, 5 b =
Lr FNpAgp T ko 11;51%7%_0

(490 —55X4)+3=( )
(490 —55X4)+3
=(490—220)+3
=270+3
=90
;é 190 =~

(5) 41 4 - ey, 157 £ F 2080
Fj‘?r;; 4.];»&_1&'%\3%, B A
A FpEpT R RN ER

[ rosos g, e B - E \g\

(2080+1780+2400)+4=( ) TL
(2080+1780+2400)+4

= (3860+2400)+4

=6260+4

=1565

# 11565 &

(6) #1F 93FF 4275 25 > X% 435 F 1968 2 5 v T o JE= % chf Bt - 3F
HIenE g E 0 ?
At Bk gpET Rk R ENE %

1968+4—4275+9=( )
1968+4—4275+9
=492 —4275+9
=492 —475
=17
F 17 o5



FEMEMERRHBMERKENHAEEME

@ HEASZNAS : NC-5-2-1 ~ 2(@ RC-5-1-1 -~ 2)

----------------------------------------------------------------------------------------------------------------------

B & @

(45455 7 452 4% Ao 13E [ Q)1 £ %F 635> L @iaf 7 3 £
TR EFET 50 R 471000 ~ > gFHw 5L A9

Gy T 3B Al FigF i |(DEEREY > P E2IN T 470
BF T390 R R 50 A § ¢ 1000 %> % 7 20 HL % 18

,j’FIJ'T ’:‘7,"/;'..,?

[ = z4v: o Ly an75%




FEMEMERRHBHERKENHEENE
BEREBBERNS : NC-5-2-1 -~ 2(F RC-5-1-1 - 2)
O=HFHFH— 2E K L7 Pl L
(1) 2R E3600 443 > = 124K~ - K> * 6 KX+-§ % § 360~ >

' E & o, =
2MEFTFESAAY

LH 3600 AL T IS ES S E?
R e

£ 35 13600+12+6=50
£ B 1 360X50=18000
A B E T E S - B E Y 360X (3600+12+6)= 18000

% © 18000 ~
/’
{;u PF LY 360X (3600+12+6)=( )= 4LP T Kk - ]

(2) & fe¥ 8- Bl& 200 = ¢ ’72'?-?72'?3—5-%‘&53]"] VAR EEE s Q
i‘? -;E'? ¥ :I}U%E E] \:U—r j\ -ﬁ_?.,. %T o
200 X3X7X4=( )

200X3X7X4 F] & 200X3XT7X4=600X7X4
=600X7X4 600X 7X4=4200X4
=4200%4 4200 X 4=16800

=16800 410 200X 3 X7 X4=16800

" ¥ 116800 2 ®

(3) 1 R Hli¥ 1200 3F795.4 » & GRFEX - ¢ » F § & EL - £ F 5 gL
#%g—], \quJ,v—:u;H:,;\, ,%9

A e ET R A ENER

> - > E =
AETUES SS9 B -4 5 apIaLd 0 h
N A EEVUESFH?
BB TS 49 jﬁ

1200+(6 X8 X5)=( )

1200+6+8+5=( ) 1200+(6X8X5)

1200+6+8+5 =1200+(48X5)

=200+8+5 =1200+240

=25+5 =5

=5 ¥ 154



FEMEMERRHBMERKENHAEEME

A% FN AP T R ME R
(1)1 F#-= 3 3p77 5 4 ;;t;u— g5 10| (2)m -
SRF-F o FO6LEF-F0 15 :
£ 5033754 9

HEASZNAS : NC-5-2-1 ~ 2(@ RC-5-1-1 -~ 2)

——»

G)L A BliT 12054 85 QA Z- ¢ | (4)1 wﬂf’f BN FRF L F 6K
FOeg- g SN0 EE- x| Eo RO FD2RES- LS
TEA S0 §700 % > RIWETHE S50 A 0




FEMEMERRHBHERKENHEENE

. ©0Ele
EZK%EW{E - NC-5-2-1 - 2(|§_| RC-5-1-1- 2) BY NC SA

@ rist ||

’t?’-%}#a’g\gh—rj\ é
(DK K+ 7 3000 ~ 3|+ iﬁ‘% a4t > Q)& %4 800 ~ » ¥ 1 =& i» 120 ~en

TI..

I A 900m B AT AHLE 4 G fo s 5565 = ek |
750m,‘§p£**”1 650 15 > F|F fo » BEEFIT R
~ ?

CIEEZZuF s ¥ S ogeicT 40 (@) £ipdf 2 ERF LIS &

= 5 E I T e WIFE Y BT TR T ik
LB | 864 | 93 4 | 91 & itk o FIF 10 20 2T
B = Rt gAY

G445 32~ 1 44m 4 845 ~ » (6)],‘;3;‘_1,%\31, ;\‘.f-_;:. 1927 #
iéﬁ% ER NG I S I MR =29 27§ 1305 & o - 2 TF
B

N

~ 7 :LL*’A}'E”‘;’J‘%;"?E‘;"}%?







HEHNBERKRENHEE

=g B /B2
B BRKEEM

5.

- AREIE




	空白頁面

